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Soction A
The HCF of two consecutive even numbers is
a) 1 b) 2 c) 4 d) 8
Consider the following distribution:
Marks Above 0 | Above 10 | Above 20 | Above 30 | Above 40 | Above 50
Number of G3 58 55 51 48 42
students [

The frequency of the class 30 — 40 is

a)3

The least number that is divisible b
c) 504

a) 10

The pair of linear equation x = a

a) parallel

C) coincident

b) 4

b) 100

c) 48

d) 41

d) 2520

b) intersecting at (b, a)
d) intersecting at (a, b)

y all the numbers from1 to 10 (both inclusive) is

and y = b graphically represents the lines which are
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10.

(Q.11 - Q.15) Fill in the blanks.

11.

12.

13.

14.

15.

. (;Uﬁ ( \/
1
2) 0 b) 1 o) 7
If 15¢olA = 8, (han SINA © d) ':'2
K| 1
ﬂ)';' b) % c)
d) 90°

SinA = CosA Is true whe" " ’4 5°

.

, a di )
tof Coordinate of BIs

in
The coordinates of oné on P* circle are c(1.-3)-
coordinates of the cenlré of the c) (-2, 5) d) (2,-5)
a) (2, 5) ) (-2 75)

0 g)and B(O,-2)is

The distance between the point (0. d) 2
a)6 b) 8 c)4
Point on Y axis has coordinate L _b)
a)(-a,b) b)(a,0) AO.P) '

The total surface area of the top shown in the figure is ----------==

If —4 is a zero of the polynomial X* —x — (2k + 2), then the value of k is
OR
If the roots of the equation ax? + bx + ¢ = 0 are equal, then ¢ = -----=----------

Corresponding sides of two similar triangles are in the ratio 4:9. Area of these trian

are in the ratio -—--——eemeeeeeee-

Common difference of an AP in which a1 — @14 = 32 is

A die is thrown once. The probability of getting an prime number is --------------



(Q. 16 - Q. 20) Ahawer {

16 10 figure wa | ) auch that
A - ! e Bo0meant. . Y intestscot sach Othar at (he point 17 s ]
A= Gem, ppy . Sorn l';‘ilv. AG m»‘,('.[f“??‘(m () = 66M, <A = 607 GO = 50
Find <pna : “ dem, PG= 2.6om,

4] "‘"‘Wvln"

17.  The HCF of tw

T t e T
: O numbers is 145 and thelr LCM I8 2175. 1 one of the number is 725,
find the other,

s

18. In figure O is the centrg of a ¢ircle, PQ Ia a chord and tho tangent PR at P makes an
angle 50° with PQ, find <POQq, .

OR

Find the length of tangent drawn to a circle of radius 8cm from a point 17cm away from
the centre of the circle.

19. Find the common difference of the following AP:
1 1-P. 1-2p

p’ P’ p |
20.  Find the value of k for which the following system of linear equations has no solution.
kx +3y=k-2
12x + ky = k
Section B
21. How many three digit numbers are divisible by 77 |
22, A quadrilaieral ABCD is drawn to circumscribe a circle, as shown in figure. Prove tha
AB + CD=AD + BC. . 2
D '\"x
*Q
}
/\



23.

24,

25.

-, Prove that DC’ = CF x AC.
i the gi liqure ABIIPE and BDJEF.
n the given figure /

[

OR
he point of intérsection of AC and BD, AB||CD and

In a trapezium ABCD, O is t OB = g4cm?, find the area of ACOD.

AB = 2CD. If the area of DA .
A Minar is a t or turret found especially in India. It is the famous monument of
ris a tower

; . : : er places near it. Tourists from all over the world come
;ﬁgsif;"acgg?stomscigdt't:g gg;utypof these hist.orical monuments. One day a 1.5m tall
boy w:ant?oran excursion trip. He saw a beau.t|ful mina_r and he aske_d about the helght
of the minar from the local guide. The local gut.de told him that the' height of the minar is
30m approximately. He is standing at some dnstancc? from_the minar and observes the
angle of elevation from his eyes to the top of the building increases from a to B as he

walks towards it such that sin(a+ B) = 1 and cos (B- a) = — - Find the distance he

walked towards the building.

A
30m
PN AL :
=1
Q ? i 6

Cards marked with numbers 5 to 50 are placed in a box and mixed thoroughly. A card
is drawn at random. Find the probability that the number on the taken out card is

i) a prime number less than 10
if) @ number which is a perfect square.
OR
Two coins are tossed simultaneously. What is the probability of getting
i) atleast one head.

i) atmost one iaijl



26 Kiran wont (o 4 shop (o wank for his house T typass, of wiater tanvs were
il ) » . ¢ y ] I !
avallablo in (he shop ()nt“v w'"mm(* (otm of dimanson T Am 7 Am and anothes 0
] ¥ 7 ’ . . . - [
the form of Gylindar wi, ‘4h|u m 1‘(;: 1m and height 1. Kian wants 1o buy a tank wih
ame

more capncity, Whiglhy lypo of tank he may buy?

gection &
27, Prove that V7 ig irrationg)
OR
Show thal any positive odd Integer is of the form (4m * 1) of (4m + 3), where m is some

integer.

28. The ratio of 11" erm 10 18" term of an AP is 2:2 Find the ratio of the 5™ term to 217
term. Also find the ratio of sum of the first five terms to sum of the first 21 terms.

29.  Solve the following system of equations:
S 2

—_— =1

X+y x-=y

+—=10

©30. Obtain all other zeros of x* + 4x° —2x% — 20x — 15 if two of its zeros are VS and —/5.

431, IfR(x, y) is a point on the line segment joining points P(a,b) and Q(b, a), then prove

thatx+y=a+b

In the figure given below, two circular flower beds have been shown on two sides of a
square lawn ABCD of side AB = 42m. [f the centre of each flower bed is the point of
intersection of O of the diagonals of the square fawn, find the sum of areas of two flower

beds.
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prove thitt cash = A = 42 ZinA.
A ,

43, Il cosA 1 ninA = V2607
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the gelent@ marks of his class. The total number of students
:M‘ s ool odllec ata, h@ ﬂnnlyznd the data and prepared a report on the Ao
50. Afler collocting the 495 port he drew the following graph.

ro
marks of his class. Using this
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Based on the above graph, answer the following questions:

i) Form the frequency distribution table for the data.
ii) Find the median marks of his class from the graph.
iii) Obtain the mode of the data if mean mark is 52.

Section D

35. Draw a triangle ABC with sides BC = 7cm, <B = 45°, <A = 105°. Then construct.

: . 4 S
triangle whose sides are 3 times the corresponding sides of AABC.

OR

Draw a circle of radius 4.2cm. Draw a pair of tangents to this circle inclined 1o €

other at an angle of 45°.
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; ity of 122028 em® of wimter
A bucket I8 in the form of a frustum of a cone vng‘ogm‘;"‘a’;ffgm respectively. Find the
The radii of the top 5 bottom circular ends are t used in its making. (use 1= 2.1¢4)
height of the bucket ang the area of the metal shee

OR
tains liquid. This liquid is filled inxg
A hemispherica Bowl of internal diameter 36cm con iq

ight of each bottle f 10% o liguid
Cylindrica| bottles of diameter 6cm. Find the heig
Wasted in thijg transfer.

: Om tal) building. The angle of
. . stancefrqmaﬁs i ae e o
AI 1.5trin taflrlotrrl?yé ilsses;:;u::)n?h :ttjgrgf u?é bundir:e% ntncn::(s;:sthfrolr;:J la‘d{: ngto 60" as he wa
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towards the building, Fing the distance he walk

i was conducted and the
A survey reégarding the heights (in cm) of 50 girls of a class
u -
foIIowing data was obtained.

~160 160—1707‘
I 120—-130 | 130-140 | 140-150 | 150 |
Height - ‘ . - |
in cm) 5 12 ) |
Number of 2
irls

ta.
Find the median and mode of the above da



